-~ =N 2 =N, =
SO FEE HRlfEERERRREHIER
(hEBM=E) n20—2111 (B@®) NE1103
& R EG%E SRS A5 58 6R 78 88 98 108111812818 28 38
i) R 1B B B~& FRISIE30D~F 555159 T8
= & = = w8 3 @ =1.33 FET1 OBS 2,/ r 4 26, 3 115 3, 7 4 4
(HIDBOARBE TS
= ~ F%3i|16 21 18 16 20 17 15 19 17 21 18 18
o 1.7 3 1.5 2.7 5 2.6 3 3
B1~354
£ %+ B % =l , 8 1310 8 13 9 15 11 9 14 10 10
GESREHEED | FRIE~4E
AN =3 b7
ARRODEO0S 15 20 17 16 19 17 21 18 16 20 17 17
D. BEOMANCE |*SHELEEFNS
ey e 00 2724 22 26 24 28 25 23 27 25 24
7
ANEDT A TS B R =38 i1 B~als |19 17 19 16 20 18 15 20 17 21 21
21
oy b
E-g%ﬂ%@;g( FHA~4 | 9 11/ 12 ~ 14 /9 / 13
13 3 18 ai
R B B 3 ) EAK  [x10/248 251231271251 221 261%24] 28126231271 2T
(PES) % FEOB30% |TEPTET PSRRI LS. 88 (FES L (LS TES] FES)
AT
3 % B T 8 =
(IOADKEBTNSEH30|  BR®E1k Tgig~48 |3 /5 ~ T ./ 2 /s 4 s 5/
NEUBEFETLCTSH)
Ttz EBEa +e%  memoK Fgil~4% | 8 /10 /11~ 13 /8 /12
g BB % oW FigAR~a% | 9 14 11 9 13 .10 8 12 10 14 K Ik
= 1 2 W 8 % s Y
RO L T =37k T84 B~4% |17 15 19 17 21 18 16 20 18 15 19 19
B onrame o B mes2e Fg18~4% | 2 10 /12, / 18, / 8/ 10 / 14
R 8 E S B 8 % 51 W FgAR~40 |2 8 4 2 6 3 1.6 3 7 4 4
p= = x e L )
bR 8RB B mamx Tgie~485 | 1~ 3 / 4 s 6 /18 / 5
E3) B8 H 25 4.7k %1 B5~A405 |24 22 26 24 28 25 23 27 25 22 26 26
( 5 80 % # ) = B :
1ioilsgiqisloizivizisglals
EERED 8 1310 8 tk 9 17 11 9 16 10 10
b:ﬁ@?:t?a%&b:\ T%185~405 |15 20 17 18 19 19 21 18 16 20 17 17
%g?gi%gf?i% 00 07 24 22 26 26 28 25 23 27 27 24
129 — 30 —  — — — — 3

XINDT P =2k« Y3avEYTEYS— (PESYEABE) 16+« DAL




